Form **990-PF**Department of the Treasury

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

► Do not enter social security numbers on this form as it may be made public.

► Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

OMB No. 1545-0052 **2016**Open to Public Inspection

For calendar year 2016 or tax year beginning and ending A Employer identification number Name of foundation LINDEN TRUST FOR CONSERVATION 13-3748063 Number and street (or P.O. box number if mail is not delivered to street address) Room/suite **B** Telephone number 156 WEST 56TH STREET 1100 212 991-3730 City or town, state or province, country, and ZIP or foreign postal code C If exemption application is pending, check here 10019-3879 NEW YORK, NY G Check all that apply: Initial return Initial return of a former public charity **D** 1. Foreign organizations, check here Final return Amended return 2. Foreign organizations meeting the 85% test, check here and attach computation Address change Name change H Check type of organization: X Section 501(c)(3) exempt private foundation E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here I Fair market value of all assets at end of year | J Accounting method: X Accrual Cash F If the foundation is in a 60-month termination (from Part II, col. (c), line 16) Other (specify) under section 507(b)(1)(B), check here ...▶ 20,874,669. (Part I, column (d) must be on cash basis.) ▶\$ Part I Analysis of Revenue and Expenses (d) Disbursements (b) Net investment (c) Adjusted net (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a).) for charitable purposes (cash basis only) expenses per books income income 1,471,525. Contributions, gifts, grants, etc., received Check if the foundation is not required to attach Sch. B Interest on savings and temporary cash investments 1,502. 1,502. 1,502.STATEMENT 461,618.STATEMENT 461,618. 461,618. 4 Dividends and interest from securities 5a Gross rents **b** Net rental income or (loss) 38,232. 6a Net gain or (loss) from sale of assets not on line 10. **b** Gross sales price for all assets on line 6a 4,153,719. 7 Capital gain net income (from Part IV, line 2) 38,232. 77,327. 8 Net short-term capital gain Income modifications 10a Gross sales less returns and allowances **b** Less: Cost of goods sold ... c Gross profit or (loss) 9,190. 9,190. 9,190.STATEMENT 3 11 Other income 510,542. 1,982,067. 549,637. Total. Add lines 1 through 11 476,280. 23,814 23,814. 452,466. 13 Compensation of officers, directors, trustees, etc. 4,949. 14 Other employee salaries and wages 341,489. 4,949. 336,933. 203,046. 5,969. 5,969. 196,450. 15 Pension plans, employee benefits 11,375. 0. 0. 11,375. Expenses 16a Legal fees STMT 4 32,751 31,551. **b** Accounting fees **STMT** 5 0. 0. c Other professional fees STMT 6 1,574,715. 71,188. 71,188. 1,581,570. 17 Interest Taxes STMT 7 856. 483. 483. 35,000. 18 Depreciation and depletion 8,250. 222,041. 8,250. 216,058. 20 Occupancy 21 Travel, conferences, and meetings 164,083. 0. 0. 158,084. 15,506. 22 Printing and publications 20,493. 109. 109. 23 Other expenses STMT 8 102,981. 38,754. 38,754. 63,131. 24 Total operating and administrative 3,150,110. 153,516. 153,516. 3,098,124. expenses. Add lines 13 through 23 2,379,650. 3,765,837. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. 5,529,760 153,516 153,516 6,863,961. Add lines 24 and 25 27 Subtract line 26 from line 12: -3,547,693 **8** Excess of revenue over expenses and disbursements 357,026. **b Net investment income** (if negative, enter -0-) 396,121. C Adjusted net income (if negative, enter -0-)

rm 990-PF (2016) LINDEN TRUST FOR CONSE			3/48063 Pag
Part II Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only.	Beginning of year (a) Book Value	End of	
	. ,	(b) Book Value	(c) Fall Market Value
1 Cash - non-interest-bearing		52,019.	52,019 427,036
2 Savings and temporary cash investments 3 Accounts receivable ▶ 242		427,030.	427,030
	147.	242.	242
Less: allowance for doubtful accounts ► 4 Pledges receivable ►	14/•	242.	24.
Less: allowance for doubtful accounts			
	468,750.		
5 Grants receivable 6 Receivables due from officers, directors, trustees, and other	400,750.		
disqualified persons	6,022.	10,023.	10,02
7 Other notes and loans receivable	0,0220	10,0231	10,02
Less: allowance for doubtful accounts			
8 Inventories for sale or use			
9 Prepaid expenses and deferred charges	11,142.	34,830.	34,83
10a Investments - U.S. and state government obligations		0 = 7 0 0 0 1	
b Investments - corporate stock STMT 10	3,010,375.	3,124,063.	3,124,06
c Investments - corporate bonds		, , , , , , , , , , , ,	, , ,
11 Investments - land, buildings, and equipment: basis			
Less: accumulated depreciation			
12 Investments - mortgage loans			
13 Investments - other STMT 11	19,702,352.	17,202,641.	17,202,64
14 Land, buildings, and equipment: basis			
Less: accumulated depreciation			
15 Other assets (describe ► STATEMENT 12)	22,351.	23,815.	23,81
16 Total assets (to be completed by all filers - see the			
instructions. Also, see page 1, item I)			20,874,66
17 Accounts payable and accrued expenses	140,293.	93,288.	
18 Grants payable	1,936,250.	557,500.	
19 Deferred revenue			
20 Loans from officers, directors, trustees, and other disqualified persons			
21 Mortgages and other notes payable			
22 Other liabilities (describe ► STATEMENT 13)	115,796.	116,007.	
		766 705	
23 Total liabilities (add lines 17 through 22)	2,192,339.	766,795.	
Foundations that follow SFAS 117, check here			
and complete lines 24 through 26 and lines 30 and 31.	10 500 770	17 507 704	
24 Unrestricted	19,582,772.	17,527,704.	
25 Temporarily restricted		2,580,170.	
26 Permanently restricted			
Foundations that do not follow SFAS 117, check here			
and complete lines 27 through 31.			
27 Capital stock, trust principal, or current funds	1		
Paid-in or capital surplus, or land, bldg., and equipment fundRetained earnings, accumulated income, endowment, or other funds			
30 Total net assets or fund balances	22,969,281.	20,107,874.	
OO TOTAL HEL ASSETS OF INHU DAIGHTES	22,505,201.	20,10,10,40	
31 Total liabilities and net assets/fund balances	25,161,620.	20,874,669.	
art III Analysis of Changes in Net Assets or Fund	Balances		
Total net assets or fund balances at beginning of year - Part II, column (a), lin	ne 30		
(must agree with end-of-year figure reported on prior year's return)		1	22,969,28
Enter amount from Dart I. line 27a			-3 547 69

1	Total net assets or fund balances at beginning of year - Part II, column (a), line 30		
	(must agree with end-of-year figure reported on prior year's return)	1	22,969,281.
2	Enter amount from Part I, line 27a	2	-3,547,693.
3	Other increases not included in line 2 (itemize) UNREALIZED GAIN ON INVESTMENTS	3	700,286.
4	Add lines 1, 2, and 3	4	20,121,874.
5	Decreases not included in line 2 (itemize) SEE STATEMENT 9	5	14,000.
6	Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30	6	20,107,874.

F	Part IV Capital Gains	and Losses for	Tax on Invest	ment Income						
		ribe the kind(s) of propered			(b)	How a - Purd) - Don	cquired hase ation	(c) Date (mo., d		(d) Date sold (mo., day, yr.)
1:	a PUBLICLY TRADE	D SECURITI	ES	,	+-	2 2011		VARI	OUS	VARIOUS
	b THRU PRIVATE E			ARTNERSHIP	s			VARI		VARIOUS
	c PUBLICLY TRADE							VARI		VARIOUS
_	d THRU PRIVATE E	QUITY AND	LIMITED P	ARTNERSHIP	s		P	VARI	OUS	VARIOUS
_	e	-								
	(e) Gross sales price	(f) Depreciation (or allowab		(g) Cost or other basis plus expense of sale			•		ain or (loss s (f) minus	
_;	a 3,783,548.			3,895,6	44.					-112,096
ī	b									73,001
	c 370,171.			426,8	60.					-56,689
_	d									134,016
_	e									
	Complete only for assets showir	ng gain in column (h) a	ind owned by the four	dation on 12/31/69			(I)	Gains (C	ol. (h) gain	minus
	(i) F.M.V. as of 12/31/69	(j) Adjusted		(k) Excess of col. (i)			col.	(k), but r	not less tha (from col.	ın -0-) or (h))
_	(1)1 .1VI. V. as of 12/3 1/03	as of 12/31	/69	over col. (j), if any				L00000	(110111 001.	. ,,
_;	a									-112,096
	b									73,001
_	C									-56,689
_	d									134,016
_	e						1			
		∫ If g	jain, also enter in Part loss), enter -0- in Part	I, line 7	J					20 020
2	Capital gain net income or (net ca	ıpital loss) 🔪 [f (loss), enter -0- in Part	I, line 7	J	2				38,232
3	Net short-term capital gain or (los	ss) as defined in sectio	ns 1222(5) and (6):		`					
	If gain, also enter in Part I, line 8,				•					77 207
	If (loss), enter -0- in Part I, line 8		040/a) far Dad	read Tay on No	<u>J</u>	3				77,327
	Part V Qualification U						nent inc	ome		
(Ի	for optional use by domestic private	e toundations subject t	o the section 4940(a)	tax on net investment	incom	e.)				
lf	section 4940(d)(2) applies, leave tl	nis part blank.								
۱۸/	log the foundation liable for the age	tion 4040 toy on the di	atributable amount of	any year in the base no	rio dO					Yes X No
	as the foundation liable for the sec				eriou?					. Yes A NO
	"Yes," the foundation does not qual Enter the appropriate amount in				entries	s				
÷	(a)	I	, ,	The belore making any	(C					(d)
	Base period years Calendar year (or tax year beginni	ng in) Adjusted	(b) qualifying distribution	ns Net value of n			-use assets		Distril (col. (b.) div	(d) bution ratio vided by col. (c))
_	2015	''ig iii) '	6,953,4		2.6	12	0,822		(001. (b) an	• 266202
_	2014		5,617,9	92.			1,685			.205624
	2014		3,105,9	29.			2,719			.11199
_	2012		3,815,4				9,159			.148582
_	2012		3,506,0				8,880			.128013
_	2011	L	3,300,0	<u> </u>		, 50	0,000	1		*12001
2	Total of line 1, column (d)							2		.860414
3	Average distribution ratio for the	5-vear hase neriod - di	vide the total on line 2	hy 5 or by the number	r of ve	ars		<u> </u>		700011
Ŭ	the foundation has been in existe				-			3		.172083
	the realitation has been in exists	noo n 1000 than o your	'							, , , , , , , , , , , , , , , , , , ,
4	Enter the net value of noncharitat	ole-use assets for 2016	S from Part X line 5					4	2	1,644,819
•	Enter the net value of nononana.	70 400 400010 101 20 10	, 1101111 411174, 11110 0					<u> </u>		
5	Multiply line 4 by line 3							5		3,724,705
٠	Multiply lifte 4 by lifte 6							"		3,722,703
6	Enter 1% of net investment incon	ne (1% of Part I line 2	7h)					6		3,570
J	Entor 170 of not invosting it illoui	10 (170 OI 1 alt 1, 11116 Z	. 5)					-		3,370
7	Add lines 5 and 6							7		3,728,275
•	, iau imoo o unu o							'-		-,0,_,0
8	Enter qualifying distributions from							8		6,863,961
	If line 8 is equal to or greater than See the Part VI instructions.	line 7, check the box	in Part VI, line 1b, and	I complete that part usi	ng a 1	l% tax	rate.			

Pa	rt VI Excise Tax Based on Investment Income (Section 4940	(a), 494	l0(b), 49	40(e),	or 4	948 -	see i	nstru	ctio	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here and ent	ter "N/A" or	ı line 1.)						
	Date of ruling or determination letter: (attach copy of letter if nece			ns)						
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here	X and	enter 1%	· }		1			3,5	70.
	of Part I, line 27b				ı					
C	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of	of Part I, li	ne 12, col. ((b).						
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Oth	ers enter -	0-)			2				0.
	Add lines 1 and 2				ŧ	3			3,5	70.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Oth					4				0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-		,			5			3,5	70.
6	Credits/Payments:									
	2016 estimated tax payments and 2015 overpayment credited to 2016	6a	2	26,6	55.					
	Exempt foreign organizations - tax withheld at source	6b								
	Tax paid with application for extension of time to file (Form 8868)	6c								
	Backup withholding erroneously withheld	6d								
	Total credits and payments. Add lines 6a through 6d	<u>'</u>				7		2	6,6	55.
	Enter any penalty for underpayment of estimated tax. Check here X if Form 2220 is attact					8				
	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed					9				
	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid					10		2	3,0	85.
	Enter the amount of line 10 to be: Credited to 2017 estimated tax					11			- , -	0.
Pa	rt VII-A Statements Regarding Activities									
	During the tax year, did the foundation attempt to influence any national, state, or local legisla	ition or did	l it participa	ite or inte	ervene	in			Yes	No
-	any political campaign?							1a		Х
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purpose	es (see ins	tructions fo	r the def	inition)	?		1b		Х
_	If the answer is "Yes" to 1a or 1b , attach a detailed description of the activities and	•								
	distributed by the foundation in connection with the activities.	,								
С	Did the foundation file Form 1120-POL for this year?							1c		х
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the y									
_	(1) On the foundation. > \$ (2) On foundation managers.				0.					
e	Enter the reimbursement (if any) paid by the foundation during the year for political expenditu									
·	managers. ► \$ 0.	aro tax irrip	70000 011 10	arradition						
2	Has the foundation engaged in any activities that have not previously been reported to the IRS	S?						2		х
_	If "Yes," attach a detailed description of the activities.									
3	Has the foundation made any changes, not previously reported to the IRS, in its governing ins	strument.	articles of in	ncorpora	ition. o	r				
•	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes							3		х
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?							4a		Х
	If "Yes," has it filed a tax return on Form 990-T for this year?							4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?							5		Х
	If "Yes," attach the statement required by General Instruction T.							-		
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied eith	ner:								
	By language in the governing instrument, or									
	By state legislation that effectively amends the governing instrument so that no mandatory	directions	that conflic	t with th	e state	law				
	remain in the governing instrument?							6	Х	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," comp							7	Х	
	214 mo 154 man 14 mo 14	0,010	,	,						
8a	Enter the states to which the foundation reports or with which it is registered (see instructions	s) >								
	NY						_			
h	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Atti	ornev Gen	eral (or des	signate)						
-	of each state as required by General Instruction G? If "No," attach explanation	-	•	- ,				8b	Х	
9	Is the foundation claiming status as a private operating foundation within the meaning of sect									
	year 2016 or the taxable year beginning in 2016 (see instructions for Part XIV)? If "Yes," co		., . ,	, . ,				9		Х
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule							10		Х

ГС	Statements negaring Activities (continued)			
			Yes	No
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of	l		37
	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?	٠. ا		37
	If "Yes," attach statement (see instructions)	12	Х	X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Λ	
	Website address ► N/A The books are in care of ► KAREN SIMONSON Telephone no. ►212 99	1_2	730	
14	Located at 156 WEST 56TH STREET, NO. 1100, NEW YORK, NY ZIP+4 10	<u>1 3</u>	<u> - 38</u>	79
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here			
13	and enter the amount of tax-exempt interest received or accrued during the year		/A	ш
16	At any time during calendar year 2016, did the foundation have an interest in or a signature or other authority over a bank,		Yes	Nο
	securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for FinCEN Form 114. If "Yes," enter the name of the			
	foreign country			
Pa	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly):			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)			
	a disqualified person? Yes X No			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?X Yes No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? X Yes No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)			
b	o If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			77
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		X
	Organizations relying on a current notice regarding disaster assistance check here			
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected	4.		v
•	before the first day of the tax year beginning in 2016?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
	defined in section 4942(j)(3) or 4942(j)(5)): At the end of tax year 2016, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning			
•	hefore 20162			
	If West High the years			
H	o Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect			
_	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions.) N/A	2b		
c	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
	• · · · · · · · · · · · · · · · · · · ·			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time			
	during the year? Yes X No			
b	o If "Yes," did it have excess business holdings in 2016 as a result of (1) any purchase by the foundation or disqualified persons after			
	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,			
	Form 4720, to determine if the foundation had excess business holdings in 2016.) N/A	3b		
	a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		Х
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that			
	had not been removed from jeopardy before the first day of the tax year beginning in 2016?	4b		Х

Part VII-B S	Statements Regarding Activities for Which F	Form 4720 May Be F	Required (conti	inued)				
5a During the year	ar did the foundation pay or incur any amount to:							
(1) Carry on p	propaganda, or otherwise attempt to influence legislation (section	4945(e))?	·	Yes X No				
(2) Influence	the outcome of any specific public election (see section 4955); o	r to carry on, directly or indire						
any voter registration drive? Yes X No								
(3) Provide a grant to an individual for travel, study, or other similar purposes?								
	grant to an organization other than a charitable, etc., organization							
4945(d)(4	4)(A)? (see instructions)		Χ,	Yes No				
(5) Provide for	or any purpose other than religious, charitable, scientific, literary,	or educational purposes, or fo	or					
the preve	ntion of cruelty to children or animals?		,	Yes X No				
	is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify und							
section 53.494	45 or in a current notice regarding disaster assistance (see instru	ctions)?			5b	Х		
	relying on a current notice regarding disaster assistance check h							
	is "Yes" to question 5a(4), does the foundation claim exemption fr							
expenditure re	esponsibility for the grant?		X,	Yes No				
	ch the statement required by Regulations section 53.4945							
6a Did the founda	ation, during the year, receive any funds, directly or indirectly, to p	pay premiums on						
a personal ber	nefit contract?			Yes X No				
b Did the founda	ation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?			6b	X		
	b, file Form 8870.	•••						
	uring the tax year, was the foundation a party to a prohibited tax s	helter transaction?		Yes X No				
	e foundation receive any proceeds or have any net income attribu				7b			
Part VIII I	nformation About Officers, Directors, Trusto							
P	Paid Employees, and Contractors	,	<i>3</i> , 3	•				
1 List all officer	rs, directors, trustees, foundation managers and their	compensation.						
		(b) Title, and average hours per week devoted	(c) Compensation	Contributions to employee benefit plans and deferred	(e)	Expense		
	(a) Name and address	nours per week devoted to position	(If not paid, enter -0-)	and deferred compensation	acco	unt, other wances		
LAWRENCE	H. LINDEN	TRUSTEE	,	componedadii				
156 WEST	56TH ST, SUITE 1100							
	NY 10019-3879	40.00	0	. 0.		0.		
		TRUSTEE						
156 WEST	56TH ST, SUITE 1100							
	NY 10019-3879	1.00	0	. 0.		0.		
ROGER T.		EXECUTIVE DIR						
	56TH ST, SUITE 1100							
	NY 10019-3879	40.00	476,280	. 78,200.		0.		
,				10,200				
2 Compensatio	on of five highest-paid employees (other than those inc	luded on line 1). If none.	enter "NONE."					
•	• • • • • •	(b) Title, and average		(d) Contributions to	(e)	Expense		
(a) Name	and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	allu uciciicu	acco	Expense unt, other wances		
AMY M. TO	OHN - 156 W 56TH ST STE	OFFICE ADMINI	STRATOR	compensation	unc	Wallood		
	NY 10019-3879	40.00	97,825	. 28,526.		0.		
KAREN A.		DIRECTOR OF F	-	. 20,520.		<u> </u>		
	NY, NY 10019-3879	24.00	98,982	. 13,644.		0.		
	=	PROGRAM ASSOC	-	1 13,044.		<u>.</u>		
	NY 10019-3879	40.00	70,025	. 16,543.		0.		
CAIT SHUE		PROGRAM ASSOC	-	· ±0,343.		<u> </u>		
1100, NY,		40.00	53,595	. 15,840.		0.		
TIOU, MI,	, INI 10019-3013	40.00	33,333	· 13,040·		<u> </u>		
				1 , ,				
Total number of ot	ther employees paid over \$50,000			<u></u>		0		

Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued) 3 Five highest-paid independent contractors for professional services. If none, enter "NONE." (a) Name and address of each person paid more than \$50,000 (b) Type of service (c) Compensation HDMK - 100 VERMONT AVE., NW, STE 800, COMMUNICATIONS WASHINGTON, DC 20005 ADVISEMENT 388,592. DELVE - 1146 19TH ST NW, STE 200, WASHINGTON, COMMUNICATIONS DC 20036 ADVISEMENT 252,106. REASKY BAERLEIN STRATEGIC COMMMUNICATIONS COMMUNICATIONS 70 FRANKLIN ST., 3RD FLOOR, BOSTON, MA 02110 ADVISEMENT 215,111. NEW FRONTIEER STRATEGY 315 KENTUCKY AVE, ALEXANDRIA, VA 22305 POLITICAL ADVISEMENT 186,721. VAN NESS FELDMAN LLP - 1050 THOMAS JEFFERSON RESEARCH AND ST., NW, WASHINGTON, DC 20007 STRATEGIC ADVISEMENT 185,236. **Total** number of others receiving over \$50,000 for professional services Part IX-A | Summary of Direct Charitable Activities List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the Expenses number of organizations and other beneficiaries served, conferences convened, research papers produced, etc. 1 MARKET SOLUTIONS INITIATIVE: SEEKS TO ENCOURAGE THE ADOPTION OF AN ECONOMY-WIDE, MARKET-BASED SOLUTION TO ADDRESS THE CHALLENGE OF CLIMATE CHANGE. 2,557,024. 2 CONSERVATION FINANCE AND ENVIRONMENTAL MARKETS: TO PROVIDE FINANCING AND TO FOSTER THE DEVELOPMENT OF ENVIRONMENTAL MARKETS TO HELP SOLVE SERIOUS ENVIRONMENTAL PROBLEMS. 126,622. 3 Part IX-B Summary of Program-Related Investments Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2. Amount N/A All other program-related investments. See instructions.

Form **990-PF** (2016)

▶

Total. Add lines 1 through 3

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: a Average monthly fair market value of securities 21,212,485. 1a 738,136. **b** Average of monthly cash balances 1b 23,815. c Fair market value of all other assets 1c 21,974,436. d Total (add lines 1a, b, and c) 1d e Reduction claimed for blockage or other factors reported on lines 1a and 0. Acquisition indebtedness applicable to line 1 assets 2 21,974,436 Subtract line 2 from line 1d 3 3 329,617 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 4 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 21,644,819 5 1,082,241 Minimum investment return. Enter 5% of line 5 Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here **X** and do not complete this part.) Minimum investment return from Part X, line 6 Tax on investment income for 2016 from Part VI, line 5 2a Income tax for 2016. (This does not include the tax from Part VI.) 2b Add lines 2a and 2b 2c Distributable amount before adjustments. Subtract line 2c from line 1 3 3 Recoveries of amounts treated as qualifying distributions 4 Add lines 3 and 4 5 Deduction from distributable amount (see instructions) 6 Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 7 Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 6,863,961. 1a Program-related investments - total from Part IX-B 1b Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes _____ 2 Amounts set aside for specific charitable projects that satisfy the: Suitability test (prior IRS approval required) За Cash distribution test (attach the required schedule) 3b 6,863,961. Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 3,570. income. Enter 1% of Part I, line 27b 5 Adjusted qualifying distributions. Subtract line 5 from line 4 6,860,391. Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Form **990-PF** (2016)

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see	e instructions)	N/A		
	(a)	(b)	(c)	(d)
	Corpus	Years prior to 2015	2015	2016
1 Distributable amount for 2016 from Part XI, line 7				
2 Undistributed income, if any, as of the end of 2016:				
a Enter amount for 2015 only				
b Total for prior years:				
3 Excess distributions carryover, if any, to 2016:				
a From 2011				
b From 2012				
c From 2013				
d From 2014				
e From 2015				
f Total of lines 3a through e				
4 Qualifying distributions for 2016 from Part XII, line 4: ►\$				
a Applied to 2015, but not more than line 2a				
b Applied to undistributed income of prior				
years (Election required - see instructions)				
c Treated as distributions out of corpus				
(Election required - see instructions)				
d Applied to 2016 distributable amount				
e Remaining amount distributed out of corpus				
5 Excess distributions carryover applied to 2016				
(If an amount appears in column (d), the same amount must be shown in column (a).) 6 Enter the net total of each column as				
indicated below:				
a Corpus. Add lines 3f, 4c, and 4e. Subtract line 5				
b Prior years' undistributed income. Subtract				
line 4b from line 2b				
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed				
d Subtract line 6c from line 6b. Taxable				
amount - see instructions				
e Undistributed income for 2015. Subtract line				
4a from line 2a. Taxable amount - see instr				
f Undistributed income for 2016. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2017				
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)				
8 Excess distributions carryover from 2011				
not applied on line 5 or line 7				
9 Excess distributions carryover to 2017.				
Subtract lines 7 and 8 from line 6a				
10 Analysis of line 9:				
a Excess from 2012				
b Excess from 2013				
c Excess from 2014				
d Excess from 2015				
e Excess from 2016				

_	(=		,, _		001,821,111	
Ī	Part XIV	Private O	perating Fo	oundations (see	instructions and Part VII-A, guestion 9)	

Part XIV Private Operating F	oundations (see ins	structions and Part VII-	A, question 9)		
1 a If the foundation has received a ruling of		1 1 3			
foundation, and the ruling is effective for				20/15	
b Check box to indicate whether the found	dation is a private operatin	g foundation described in		4942(j)(3) or 49	942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2016	(b) 2015	(c) 2014	(d) 2013	(e) Total
investment return from Part X for					
each year listed	396,121.		672,180.	1,386,636.	3,004,813.
b 85% of line 2a	336,703.	467,395.	571,353.	1,178,641.	2,554,091.
c Qualifying distributions from Part XII,					
line 4 for each year listed	6,863,961.	6,975,835.	5,662,305.	3,105,929.	22,608,030.
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities	3,892,838.	4,133,321.	3,790,144.	1,527,649.	13,343,952.
e Qualifying distributions made directly					
for active conduct of exempt activities.					
Subtract line 2d from line 2c	2,971,123.	2,842,514.	1,872,161.	1,578,280.	9,264,078.
3 Complete 3a, b, or c for the alternative test relied upon:					
a "Assets" alternative test - enter:					
(1) Value of all assets					0.
(2) Value of assets qualifying					
under section 4942(j)(3)(B)(i)					0.
b "Endowment" alternative test - enter 2/3 of minimum investment return					
shown in Part X, line 6 for each year		0.70 604	040 500		
listed	721,494.	870,694.	910,723.	924,424.	3,427,335.
c "Support" alternative test - enter:					
(1) Total support other than gross					
investment income (interest, dividends, rents, payments on					
securities loans (section					
512(a)(5)), or royalties)					0.
(2) Support from general public					
and 5 or more exempt organizations as provided in					
section 4942(j)(3)(B)(iii)					0.
(3) Largest amount of support from					_
an exempt organization					0.
(4) Gross investment income				1 105 600	. 0.
Part XV Supplementary Info			t the foundation	nad \$5,000 or m	ore in assets
at any time during t	ne year-see instr	uctions.)			

Information Regarding Foundation Managers:

a List any managers of the foundation who have contributed more than 2% of the total contributions received by the foundation before the close of any tax year (but only if they have contributed more than \$5,000). (See section 507(d)(2).)

SEE STATEMENT 14

b List any managers of the foundation who own 10% or more of the stock of a corporation (or an equally large portion of the ownership of a partnership or other entity) of which the foundation has a 10% or greater interest.

Information Regarding Contribution, Grant, Gift, Loan, Scholarship, etc., Programs:

Check here $\triangleright X$ if the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. (see instructions) to individuals or organizations under other conditions, complete items 2a, b, c, and d.

- a The name, address, and telephone number or e-mail address of the person to whom applications should be addressed:
- **b** The form in which applications should be submitted and information and materials they should include:
- c Any submission deadlines:
- d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

Supplementary Information (continued) Part XV Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient Foundation Purpose of grant or show any relationship to contribution Amount status of any foundation manager Name and address (home or business) recipient or substantial contributor a Paid during the year ALLIANCE FOR MARKET SOLUTIONS N/A GENERAL OPERATING ÞС 115 E 57TH STREET, 11TH FLOOR SUPPORT SUPPORT NEW YORK, NY 10022 1,015,000. ALLIANCE FOR MARKET SOLUTIONS N/A PC FORMATION LEGAL AND 115 E 57TH STREET, 11TH FLOOR OPERATIONAL SUPPORT NEW YORK, NY 10022 37,436. AMAZON CONSERVATION ASSOCIATION N/A PC CAMP 41 PROGRAM 1822 R STREET NW WASHINGTON, DC 20008 100,000. AMERICAN ACTION FORUM N/A ЬC TAX REFORM STUDY 1747 PENNSYLVANIA AVENUE, NW, 5TH WASHINGTON, DC 20006 FLOOR 200,000. AMERICAN ASSOCIATION FOR THE N/A PC CLIMATE SCIENCE ADVANCEMENT OF SCIENCE SYMPOSIUM 1200 NEW YORK AVENUE, NW WASHINGTON, DC 20005 25,000. CONTINUATION SHEET(S) Total ▶ 3a 3,765,837. **b** Approved for future payment GEORGE MASON UNIVERSITY FOUNDATION N/A PC ENERGY AND ENTERPRISE 4400 UNIVERSITY DRIVE MSN 1A3 INITIATIVE -FAIRFAX, VA 22030 REPUBLICEN 37,500. RESOURCES FOR THE FUTURE N/A ЬC SHARP FUND 1616 P ST, NW WASHINGTON, DC 20036 150,000. RESOURCES FOR THE FUTURE N/A РC CARBON PRICING MODEL 1616 P ST, NW WASHINGTON, DC 20036 220,000. CONTINUATION SHEET(S) 557,500. Total ➤ 3b

Part XVI-A **Analysis of Income-Producing Activities**

Enter gross amounts unless otherwise indicated.	Unrelated	business income		ded by section 512, 513, or 514	(e)
•	(a)	(b)	(C) Exclu-	(d)	Related or exempt
1 Program service revenue:	Business code	Amount	sion code	Amount	function income
a					
b					
c					
d					
e					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash					
investments			14	1,502.	
4 Dividends and interest from securities			14	461,618.	
5 Net rental income or (loss) from real estate:					
a Debt-financed property					
b Not debt-financed property					
6 Net rental income or (loss) from personal					
property					
7 Other investment income			14	9,190.	
8 Gain or (loss) from sales of assets other					
than inventory			18	38,232.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:					
a					
b					
c					
d					
e				E10 E40	
12 Subtotal. Add columns (b), (d), and (e)		0		510,542.	510 542
13 Total. Add line 12, columns (b), (d), and (e)				13	510,542.
See worksheet in line 13 instructions to verify calculations.)					

Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes

Line No. ▼	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of the foundation's exempt purposes (other than by providing funds for such purposes).

	90-PF (2016)				SERVATION			3748063	Page 13
Part		nformation Rexempt Organ		nsfers To	and Transactions a	and Relation	ships With No	ncharitable	
1 D				y of the following	ng with any other organization	on described in sec	tion 501(c) of		es No
th	e Code (other	than section 501(c)(3) organizations)	or in section 5	27, relating to political organ	nizations?			
			ation to a noncharit		Carlo Control of the Carlo Control of the Carlo				Police III
									X
								1a(2)	X
	ther transactio							2000	TOWN MARKS
(1) Sales of as	sets to a noncharita	ble exempt organiza	ation				1b(1)	X
(2) Purchases	of assets from a no	ncnaritable exempt	organization				1b(2)	X
(3) Remaioria	ment errengement.	or other assets					1b(3)	X
(4	() Loans or lo	inent arrangements					*******************	1b(4) 1b(5)	X
(6	Derformance	e of services or me	mherehin or fundra	nicina colicitatio	ons			1b(5)	X
c Si	naring of facili	ties equinment ma	iling lists other ass	ets or naid em	nployees			10(0)	X
					edule. Column (b) should alv				
					red less than fair market valu				٥,
			other assets, or ser			is in any numbers	or onaring arrange	,	
(a)Line		mount involved			e exempt organization	(d) Description	on of transfers, transaction	ons, and sharing arrar	gements
-				N/A					
							-m		
MOVES THE									
					or more tax-exempt organize tion 527?			Yes	X No
b If	'Yes," complet	te the following sch	100000000						
		(a) Name of org	anization		(b) Type of organization		(c) Description of re	elationship	
		N/A							
									_
	Linder penaltic	os of parium. I doctare i	that I have examined th	ie return, includin	ng accompanying schedules and	atatamasta and to the	best of my knowledge		
Sign Here	and belief, it is	s true correct, and con	plete. Declaration of p	reparer (other tha	n taxpayer) is based on all inform	DIREC FINAN	TOR OF	May the IRS disk return with the p shown below (se	reparer
	-/	Type preparer's na	me	Preparer's s	CACABASA	Date	Check if	PTIN	
	125 3,000,000	IOMAS F.		517		/ ,	self- employed	DE DESTA	
Paid		PA, CFE		MX	-64	10/27/17	a (#5)	P002340	22
0.00		The second second						and the second s	

Form **990-PF** (2016)

Phone no. 212 286-2600

Preparer **Use Only** Firm's name ▶ PKF O'CONNOR DAVIES, IMP

NEW YORK, NY 10022

Firm's address ▶ 665 FIFTH AVENUE

LINDEN TRUST FOR CONSERVATION

Form 990-PF, Part VII-B, Line 5c - Expenditure Responsibility Statement

Recipient's Name and Address	NO. I		Grant Amount	Date of Grant	Amount Expended	verification Date	
MALIASILI INITIATIVES, INC.							
PO BOX 293							
			F 000	02/15/15	F 000		
UNDERHILL, VT 05489			5,000.	03/15/15	5,000.		
Purpose of Grant							
GENERAL OPERATING SUPPORT.							
		ls					
Date of Reports by Grantee		Diversions by Gra					
PREVIOUSLY REPORTED ON 03/31/2015;			NLEDGE THE GRANTE	E HAS NOT I	DIVERTED ANY		
SUBSEQUENTLY UPDATED 11/8/2016		PORTION OF	THE FUNDS.				
Results of Verification							
	370		T				
Recipient's Name and Address	NO. 2		Grant Amount	Date of Grant	Amount Expended	Verification Date	
MALIASILI INITIATIVES, INC.							
MALIASILI INITIATIVES, INC. PO BOX 293							
PO BOX 293			5 000.	03/29/16			
PO BOX 293 UNDERHILL, VT 05489			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant			5,000.	03/29/16			
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT.		Diversions by Cr		03/29/16			
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee		Diversions by Gra	antee		NITTEDMEN ANV		
PO BOX 293 JNDERHILL, VT 05489 Purpose of Grant		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee			antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		
PO BOX 293 JINDERHILL, VT 05489 Purpose of Grant GENERAL OPERATING SUPPORT. Date of Reports by Grantee PENDING		TO OUR KNOW	antee VLEDGE THE GRANTE		DIVERTED ANY		

Part XV | Supplementary Information

Part XV Supplementary Information				
3 Grants and Contributions Paid During the Y	 			
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
BIPARTISAN POLICY CENTER	N/A	PC	GENERAL OPERATING	
1225 EYE STREET NW, SUITE 1000			SUPPORT SUPPORT	
WASHINGTON, DC 20005				10,000.
BROOKINGS INSTITUTION	N/A	PC	CLIMATE AND ENERGY	
1775 MASSACHUSETTS AVE., NW			ECONOMICS	
WASHINGTON, DC 20036				50,000.
CARNEGIE INSTITUTION OF WASHINGTON	N/A	PC	DEPARTMENT OF GLOBAL	
1530 P STREET NW			ECOLOGY	
WASHINGTON, DC 20005				5,000.
CENTER FOR AMERICAN PROGRESS	N/A	PC	CLIMATE ACTION	
1333 H STREET, NW, 10TH FLOOR				
WASHINGTON, DC 20005				200,000.
				·
CENTER FOR AMERICAN PROGRESS	N/A	PC	GENERAL OPERATING	
1333 H STREET, NW, 10TH FLOOR			SUPPORT	
WASHINGTON, DC 20005				10,000.
COALITION FOR RAINFOREST NATIONS	N/A	PC	REDUCING CARBON	,
370 LEXINGTON AVENUE, 26TH FLOOR			EMISSIONS FROM COASTAL	
NEW YORK, NY 10017			ECOSYSTEMS AND	
			DEFORESTATION AND	
			DEGRADATION	106,250.
COLUMBIA UNIVERSITY	N/A	₽C	CENTER ON GLOBAL	
622 WEST 113THSTREET MC4522			ENERGY POLICY	
NEW YORK, NY 10025				10,000.
DUKE UNIVERSITY	N/A	₽C	NICHOLAS INSTITUTE	
2138 CAMPUS DRIVE				
DURHAM, NC 27708				10,000.
ECOAMERICA	N/A	PC	MOMENTUS CONFERENCE	
1730 RHODE ISLAND AVENUE, NW SUITE 200				
WASHINGTON, DC 20036				25,000.
ENVIRONMENTAL ADVOCATES OF NEW YORK	N/A	₽C	GENERAL OPERATING	
353 HAMILTON STREET			SUPPORT	
ALBANY, NY 12210		1		5,000.
Total from continuation sheets				2,388,401.

Part XV | Supplementary Information

Part XV Supplementary Information				
3 Grants and Contributions Paid During the		1		
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (nome or business)	or substantial contributor	recipient		
ENVIRONMENTAL DEFENSE FUND	N/A	PC	ADDRESSING CLIMATE	
257 PARK AVENUE SOUTH NEW YORK, NY 10010			CHANGE	25,000.
NEW TORK, NI 10010				23,000.
FOREST TRENDS ASSOCIATION 1050 POTOMAC STREET, NW	N/A	PC	GENERAL OPERATING SUPPORT	
WASHINGTON, DC 20007				10,000.
GEORGE MASON UNIVERSITY FOUNDATION	N/A	PC	CENTER FOR CLIMATE	
4400 UNIVERSITY DRIVE MSN 1A3	,,		CHANGE COMMUNICATION	
FAIRFAX, VA 22030				5,000.
GEORGE MASON UNIVERSITY FOUNDATION	N/A	PC	ENERGY AND ENTERPRISE	
4400 UNIVERSITY DRIVE MSN 1A3			INITIATIVE -	
FAIRFAX, VA 22030			REPUBLICEN	100,000.
KARUNA CENTER FOR PEACEBUILDING	N/A	PC	PRICING CARBON	
447 WEST STREET AMHERST, MA 01002				10,000.
imminot, in oron				10,000.
LEAGUE OF CONSERVATION VOTERS	N/A	PC	EDUCATION FUND	
EDUCATION FUND				
1920 L STREET, NW SUITE 800 WASHINGTON, DC 20036				25,000.
MALIASILI INITIATIVES, INC.	N/A	PF	GENERAL OPERATING	
PO BOX 293	,,		SUPPORT	
UNDERHILL, VT 05489				5,000.
MARYLAND SPCA	N/A	PC	GENERAL OPERATING	
3300 FALLS ROAD			SUPPORT	
BALTIMORE, MD 21211			+	5,000.
NATIONAL AUDUBON SOCIETY	N/A	PC	CLIMATE INITIATIVE	
225 VARICK STREET, 7TH FLOOR NEW YORK, NY 10014				100,000.
NAMIDAL DESCRIPCES DESERVES COUNCIL	M / A	DC.	ADDRECTING OF THAME	
NATURAL RESOURCES DEFENSE COUNCIL 40 WEST 20TH STREET	N/A	PC	ADDRESSING CLIMATE CHANGE	
NEW YORK, NY 10011				25,000.
Total from continuation sheets				

	Part XV Supplementary Information								
3 Grants and Contributions Paid During the									
Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount					
Name and address (home or business)	any foundation manager or substantial contributor	recipient	331111111111111111111111111111111111111						
NISKANEN CENTER 1875 CONNECTICUT AVE. NW, 10TH FL. WASHINGTON, DC 20009	N/A	PC	CLIMATE CHANGE	200,000.					
OPEN SPACE INSTITUTE 1350 BROADWAY, SUITE 201 NEW YORK, NY 10018	N/A	PC	GENERAL OPERATING SUPPORT	15,000.					
R STREET INSTITUTE 1728 CONNECTICUT AVE, NW, 2ND FLOOR WASHINGTON, DC 20009	N/A	PC	CLIMATE CHANGE	200,000.					
RAINFOREST ALLIANCE 665 BROADWAY, SUITE 500 NEW YORK, NY 10012	N/A	PC	GENERAL OPERATING SUPPORT	5,000.					
RARE 1310 N. COURTHOUSE RD, SUITE 110 ARLINGTON, VA 22201	N/A	PC	GENERAL OPERATING SUPPORT	5,000.					
RESOURCES FOR THE FUTURE 1616 P ST, NW WASHINGTON, DC 20036	N/A	PC	CLIMATE POLICY INITIATIVE	500,000.					
RESOURCES FOR THE FUTURE 1616 P ST, NW WASHINGTON, DC 20036	N/A	PC	GENERAL OPERATING SUPPORT	100,000.					
RESOURCES FOR THE FUTURE 1616 P ST, NW WASHINGTON, DC 20036	N/A	PC	BANQUET	7,651.					
ROCKEFELLER FAMILY FUND RIVERSIDE DRIVE, SUITE 900 NEW YORK, NY 10115	N/A	PC	COMMON GOOD CLIMATE INITIATIVE - NY	25,000.					
ROCKEFELLER FAMILY FUND RIVERSIDE DRIVE, SUITE 900 NEW YORK, NY 10115 Total from continuation sheets	N/A	PC	COLUMBIA UNIVERSITY GRADUATE SCHOOL PROJECT	100,000.					

Part XV | Supplementary Information

Part XV Supplementary Information			1	
3 Grants and Contributions Paid During the Y		<u></u>		
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
SAVE THE CHIMPS	N/A	PC	GENERAL OPERATING	
16891 CAROLE NOON LANE			SUPPORT	
FORT PIERCE, FL 34945				25,000.
THE NATURE CONSERVANCY	N/A	PC	GENERAL OPERATING	
4245 NORTH FAIRFAX DRIVE, SUITE 100			SUPPORT	
ARLINGTON, VA 22203				15,000.
THE NATURE CONSERVANCY	N/A	PC	CLIMATE CHANGE	
4245 NORTH FAIRFAX DRIVE, SUITE 100				
ARLINGTON, VA 22203				25,000.
THIRD WAY INSTITUTE	N/A	PC	GENERAL OPERATING	
1025 CONNECTICUT AVE, NW, STE 501			SUPPORT	
WASHINGTON, DC 20036				10,000.
WILDLIFE CONSERVATION SOCIETY	N/A	PC	AMERICAN BISON SOCIETY	
2300 SOUTHERN BOULEVARD				
BRONX, NY 10460				50,000.
WILDLIFE CONSERVATION SOCIETY	N/A	PC	GENERAL OPERATING	
2300 SOUTHERN BOULEVARD			SUPPORT	
BRONX, NY 10460				25,000.
WORLD RESOURCES INSTITUTE	N/A	PC	NUTRIENT POLLUTION IN	
10 G STREET, N.E., SUITE 800			THE CHESAPEAKE BAY	0.500
WASHINGTON, DC 20002				9,500.
WORLD RESOURCES INSTITUTE	N/A	PC	CLIMATE CHANGE	
10 G STREET, N.E., SUITE 800				75 000
WASHINGTON, DC 20002				75,000.
WORLD WILDLIFE FUND	N/A	PC	NORTHERN GREAT PLAINS	
1250 24TH STREET, N.W. P.O. BOX 97180 WASHINGTON, DC 20090			RESTORATION	150 000
MIDITAGION, DC 20070				150,000.
WORLD WILDLIFE FUND	N/A	₽C	GENERAL OPERATING	
1250 24TH STREET, N.W. P.O. BOX 97180			SUPPORT	100 000
WASHINGTON, DC 20090 Total from continuation sheets				100,000.

Part XV Supplementary Information **Grants and Contributions Paid During the Year (Continuation)** If recipient is an individual, show any relationship to any foundation manager or substantial contributor Recipient Purpose of grant or contribution Foundation Amount status of Name and address (home or business) recipient YALE SCHOOL OF FORESTRY & N/A PC PROJECT ON CLIMATE ENVIRONMENTAL STUDIES CHANGE COMMUNICATION 205 PROSPECT STREET NEW HAVEN, CT 06511 5,000. Total from continuation sheets

Part XV Supplementary Information **Grants and Contributions Approved for Future Payment (Continuation)** If recipient is an individual, show any relationship to any foundation manager or substantial contributor Recipient Purpose of grant or contribution Foundation Amount status of Name and address (home or business) recipient WORLD WILDLIFE FUND N/A PC NORTHERN GREAT PLAINS 1250 24TH STREET, N.W. P.O. BOX 97180 RESTORATION WASHINGTON, DC 20090 150,000. 150,000. Total from continuation sheets

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

► Attach to Form 990, Form 990-EZ, or Form 990-PF. ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990 .

OMB No. 1545-0047

Name of the organization

Employer identification number

13-3748063 LINDEN TRUST FOR CONSERVATION Organization type (check one):

	Section:
Form 990 or 990-EZ	501(c)() (enter number) organization
1 01111 000 01 000 EZ	
	4947(a)(1) nonexempt charitable trust not treated as a private foundation
	527 political organization
Form 990-PF	X 501(c)(3) exempt private foundation
	4947(a)(1) nonexempt charitable trust treated as a private foundation
	501(c)(3) taxable private foundation
, ,	covered by the General Rule or a Special Rule. 7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions.
Conoral Bula	
General Rule	
	filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or one contributor. Complete Parts I and II. See instructions for determining a contributor's total contributions.
Special Rules	
sections 509(a)(1) a any one contributor	described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990-EZ), Part II, line 13, 16a, or 16b, and that received from r, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 11 line 1. Complete Parts I and II.
	described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the tions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or educational purposes, or for
	ruelty to children or animals. Complete Parts I, II, and III.

certify that it doesn't meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2016)

Name of organization Employer identification number

LINDEN TRUST FOR CONSERVATION

13-3748063

Part I	Contributors (See instructions). Use duplicate copies of Part I if addition	al space is needed.	
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	LAWRENCE H. LINDEN AND DANA LINDEN 156 WEST 56TH STREET NEW YORK, NY 10019-3879	\$500,000.	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
2	DAVID BLOOD 19 THURLOE PLACE LONDON, UNITED KINGDOM SW7 2SP	\$ 468,750.	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
3	FOUNDATION FOR THE CAROLINAS 220 NORTH TRYON STREET CHARLOTTE, NC 28202-2137	\$\$	Person X Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
4	JOSEPH GLEBERMAN 133 WEST 69TH STREET NEW YORK, NY 10023-5278	\$\$	Person X Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
5	THE LITTERMAN FAMILY FOUNDATION PO BOX 76, BOWLING GREEN STATION NEW YORK, NY 10274-0074	\$ 234,375.	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
602450 10 1		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)

 $\frac{\mbox{Schedule B (Form 990, 990-EZ, or 990-PF) (2016)}}{\mbox{Name of organization}}$ Employer identification number

LINDEN TRUST FOR CONSERVATION

13-3748063

Part II	Noncash Property (See instructions). Use duplicate copies of Par	t II if additional space is needed.	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
		 \$	
		_ *	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
		<u> </u>	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
		_	
		<u> </u>	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
		 \$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
Turti		_	
		<u> </u>	
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
		_	
		_ _	
23453 10-18-	40	Schedule B (Form	990, 990-EZ, or 990-PF) (201

Schedule B (Form 990, 990-EZ, or 990-PF) (2016) Page 4 Name of organization Employer identification number 13-3748063 LINDEN TRUST FOR CONSERVATION Exclusively religious, charitable, etc., contributions to organizations described in section 501(c)(7), (8), or (10) that total more than \$1,000 for Part III the year from any one contributor. Complete columns (a) through (e) and the following line entry. For organizations completing Part III, enter the total of exclusively religious, charitable, etc., contributions of \$1,000 or less for the year. (Enter this info. once.) Use duplicate copies of Part III if additional space is needed. (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from (b) Purpose of gift (c) Use of gift (d) Description of how gift is held Part I (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from (b) Purpose of gift (c) Use of gift (d) Description of how gift is held Part I (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee

Form **2220**

Underpayment of Estimated Tax by Corporations

Attach to the corporation's tax return.

FORM 990-PF

Department of the Treasury Internal Revenue Service

Information about Form 2220 and its separate instructions is at www.irs.gov/form2220.

OMB No. 1545-0123 2016

LINDEN TRUST FOR CONSERVATION

Employer identification number 13-3748063

Note: Generally, the corporation isn't required to file Form 2220 (see Part II below for exceptions) because the IRS will figure any penalty owed and bill the corporation. However, the corporation may still use Form 2220 to figure the penalty. If so, enter the amount from page 2, line 38 on the estimated tax penalty line of the corporation's income tax return, but do not attach Form 2220.

3,570.
3,570.
22,409.
3,570.
(d)
(0)
12/15/16
892.
10 000
10,000.
13,977.
23,977.
23,311.
23,977.
23,3114
1

Go to Part IV on page 2 to figure the penalty. Do not go to Part IV if there are no entries on line 17 - no penalty is owed.

For Paperwork Reduction Act Notice, see separate instructions.

Form 2220 (2016)

Part IV Figuring the Penalty

			(a)	(b)	(c)		(d)
19	Enter the date of payment or the 15th day of the 4th month after the close of the tax year, whichever is earlier.						
	(C Corporations with tax years ending June 30						
	and S corporations: Use 3rd month instead of 4th month. Form 990-PF and Form 990-T filers: Use 5th month						
	instead of 4th month.) See instructions	19					
20	Number of days from due date of installment on line 9 to the						
	date shown on line 19	20				+	
21	Number of days on line 20 after 4/15/2016 and before 7/1/2016	21					
	Number of days of fine 20 and 4/10/2010 and before 1/1/2010					t	
22	Underpayment on line 17 x Number of days on line 21 x 4% (0.04)	22	\$	\$	\$		\$
••	300						
23	Number of days on line 20 after 06/30/2016 and before 10/1/2016	23				+	
24	Underpayment on line 17 x Number of days on line 23 x 4% (0.04)	24	\$	\$	\$	{	\$
	366					T	-
25	Number of days on line 20 after 9/30/2016 and before 1/1/2017	25				+	
26	Underpayment on line 17 x Number of days on line 25 x 4% (0.04)	26	\$	\$	\$,	\$
	366	<u> </u>	<u> </u>		<u> </u>	Ť	<u>r</u>
27	Number of days on line 20 after 12/31/2016 and before 4/1/2017	27				1	
20	Haday average at the 47 v Noveley of days as the 97 v 40/ (0.04)	١,,,	Ф	¢	¢	۱,	Ť.
20	Underpayment on line 17 x Number of days on line 27 x 4% (0.04) 365	28	Φ	\$	\$	۲	\$
29	Number of days on line 20 after 3/31/2017 and before 7/1/2017	29					
			•			L	•
30	Underpayment on line 17 x Number of days on line 29 x *%	30	\$	\$	\$	Ŧ	\$
31	Number of days on line 20 after 6/30/2017 and before 10/1/2017	31					
						Ī	
32	Underpayment on line 17 x Number of days on line 31 x *%	32	\$	\$	\$	1	\$
33	Number of days on line 20 after 9/30/2017 and before 1/1/2018	33					
	Trained of days on the 20 and 0,000,20 Traine solder 1, 1,20 to	-				T	
34	Underpayment on line 17 x Number of days on line 33 x *%	34	\$	\$	\$	1	\$
25		25					
30	Number of days on line 20 after 12/31/2017 and before 3/16/2018	35				$^{+}$	
36	Underpayment on line 17 x Number of days on line 35 x *%	36	\$	\$	\$		\$
	365						
37	Add lines 22, 24, 26, 28, 30, 32, 34, and 36	37	\$	\$	\$	+	\$
38	Penalty. Add columns (a) through (d) of line 37. Enter the to	tal h	ere and on Form 1120. lin	e 33;			
				·	38	3 5	s 0.

Form **2220** (2016)

^{*} Use the penalty interest rate for each calendar quarter, which the IRS will determine during the first month in the preceding quarter. These rates are published quarterly in an IRS News Release and in a revenue ruling in the Internal Revenue Bulletin. To obtain this information on the Internet, access the IRS website at **www.irs.gov.** You can also call 1-800-829-4933 to get interest rate information.

Form 2220 (2016) FORM 990-PF Page 3

Schedule A Adjusted Seasonal Installment Method and Annualized Income Installment Method

See instructions.

Form 1120S filers: For lines 1, 2, 3, and 21, below, "taxable income" refers to excess net passive income or the amount on which tax is imposed under section 1374(a), whichever applies.

Part I Adjusted Seasonal Installment Method

Caution: Use this method only if the base period percentage for any 6 consecutive months is at least 70%. See instructions.

		(a)	(b)	(c)	(d)
1 Enter taxable income for the following periods:		First 3 months	First 5 months	First 8 months	First 11 months
a Tax year beginning in 2013	1 _{1a}				
b Tax year beginning in 2014	1b				
2 tax, year 20gg 20 t					
c Tax year beginning in 2015	1c				
2 Enter taxable income for each period for the tax year beginning in					
2016. See the instructions for the treatment of extraordinary items	2				
		Final 4 magnitus	First C manths	First O manuths	Finkling viscor
3 Enter taxable income for the following periods:		First 4 months	First 6 months	First 9 months	Entire year
a Tax year beginning in 2013	3a				
b Tax year beginning in 2014	3b				
Tourse having to a in 0045	.				
c Tax year beginning in 2015	3c				
4 Divide the amount in each column on line 1a by the	,				
amount in column (d) on line 3a	4				
5 Divide the amount in each column on line 1b by the amount in column (d) on line 3b	5				
6 Divide the amount in each column on line 1c by the	-				
amount in column (d) on line 3c	6				
amount in column (a) on line 30	⊦ै				
7 Add lines 4 through 6	7				
7 Add iiilos 4 tiirough o	 				
8 Divide line 7 by 3.0	8				
9a Divide line 2 by line 8	9a				
b Extraordinary items (see instructions)	9b				
c Add lines 9a and 9b	9c				
10 Figure the tax on the amt on In 9c using the instr for Form					
1120, Sch J, line 2 or comparable line of corp's return \dots	10				
11a Divide the amount in columns (a) through (c) on line 3a					
by the amount in column (d) on line 3a	11a				
b Divide the amount in columns (a) through (c) on line 3b					
by the amount in column (d) on line 3b	11b				
c Divide the amount in columns (a) through (c) on line 3c					
by the amount in column (d) on line 3c	11c				
12 Add lines 11a though 11c	12				_
13 Divide line 12 by 3.0	13				
14 Multiply the amount in columns (a) through (c) of line 10					
by columns (a) through (c) of line 13. In column (d), enter	_				
the amount from line 10, column (d)	14				
15 Enter any alternative minimum tax for each payment	,,				
period. See instructions	15				
16 Enter any other taxes for each payment period. See instr.	16				
17 Add lines 14 through 16	17				
18 For each period, enter the same type of credits as allowed	"				
on Form 2220, lines 1 and 2c. See instructions	18				
19 Total tax after credits. Subtract line 18 from line 17. If	"				
zero or less, enter -0-	19				
E010 01 1000; 011t01 0			ı	1	

FORM 990-PF Form 2220 (2016) Page 4

Form 2220 (2016)		FORM 990-P	<u>F</u>		Page 4
* * Part II Annualized Income Installment Me	ethod	ı			
		(a)	(b)	(c)	(d)
		First 2	First 3	First 6	First 9
20 Annualization periods (see instructions)	20	months	months	months	months
21 Enter taxable income for each annualization period. See					
instructions for the treatment of extraordinary items \hdots	21	77,299.	82,775.	206,112.	279,361.
22 Annualization amounts (see instructions)	22	6.000000	4.000000	2.000000	1.333330
23a Annualized taxable income. Multiply line 21 by line 22	23a	463,794.	331,100.	412,224.	372,480.
b Extraordinary items (see instructions)	23b	,	, ,	,	,
c Add lines 23a and 23b	23c	463,794.	331,100.	412,224.	372,480.
24 Figure the tax on the amount on line 23c using the		-		-	
instructions for Form 1120, Schedule J, line 2,					
or comparable line of corporation's return	24	4,638.	3,311.	4,122.	3,725.
25 Enter any alternative minimum tax for each payment					
period (see instructions)	25				
26 Enter any other taxes for each payment period. See instr.	26				
O7. Tatal tay, Add lines OA through OC	07	4,638.	3,311.	4,122.	3 725
27 Total tax. Add lines 24 through 2628 For each period, enter the same type of credits as allowed	27	4,030.	3,311.	4,122.	3,725.
on Form 2220, lines 1 and 2c. See instructions	28				
29 Total tax after credits. Subtract line 28 from line 27. If	20				
zero or less, enter -0-	29	4,638.	3,311.	4,122.	3,725.
30 Applicable percentage	30	25%	50%	75%	100%
31 Multiply line 29 by line 30	31	1,160.	1,656.	3,092.	3,725.
Part III Required Installments				· ·	·
Note: Complete lines 32 through 38 of one column		1st	2nd	3rd	4th
before completing the next column.		installment	installment	installment	installment
32 If only Part I or Part II is completed, enter the amount in	li				
each column from line 19 or line 31. If both parts are					
completed, enter the smaller of the amounts in each					
column from line 19 or line 31	32	1,160.	1,656.	3,092.	3,725.
33 Add the amounts in all preceding columns of line 38.	_		002	1 (5)	2 (70
See instructions	33		893.	1,656.	2,678.
34 Adjusted seasonal or annualized income installments.	,,	1,160.	763.	1,436.	1,047.
Subtract line 33 from line 32. If zero or less, enter -0 35 Enter 25% (0.25) of line 5 on page 1 of Form 2220 in	34	1,100.	703.	1,430.	1,047.
each column. Note: "Large corporations," see the					
instructions for line 10 for the amounts to enter	35	893.	892.	893.	892.
36 Subtract line 38 of the preceding column from line 37 of		033.	0320	0331	
the preceding column	36			129.	
37 Add lines 35 and 36	37	893.	892.	1,022.	892.
38 Required installments. Enter the smaller of line 34 or	"	0,55.	0,2.	1,022.	0,24
line 37 here and on page 1 of Form 2220, line 10.					
See instructions	38	893.	763.	1,022.	892.

Form **2220** (2016)

** ANNUALIZED INCOME INSTALLMENT METHOD USING STANDARD OPTION

FORM 990-PF INTERE	ST ON SAVING	SS AND I	EMPOR	ARY	CASH	INV	ESTMENTS	ST	ATEMENT	1
SOURCE			(A) EVENUE R BOOK!	S	NET	IN.	(B) /ESTMENT COME		(C) ADJUSTED IET INCOME	3
MONEY MARKET ACCOUN	TS		1,50	02.			1,502.		1,50)2.
TOTAL TO PART I, LI	NE 3		1,50	02.	1,502.			1,502		
FORM 990-PF	DIVIDENDS	AND INT	TEREST	FRO	M SEC	CURI	ITIES	ST	ATEMENT	2
SOURCE	GROSS AMOUNT	CAPIT GAIN DIVIDE	1S	RE	(A) VENUE BOOK		(B) NET INVES MENT INCO		(C) ADJUSTE NET INCO	
PRIVATE EQUITY AND LIMITED PARTNERSHIPS PUBLICLY TRADED SECURITIES	27,637. 433,981.		0.		27,63 33,98		27,63 433,98			
TO PART I, LINE 4	461,618.		0.	4	61,61	8.	461,61	8.	461,61	L8.
FORM 990-PF		OTHER	RINCON	ME				ST	ATEMENT	3
DESCRIPTION			REV	(A) VENU BOO			(B) ET INVEST- ENT INCOME		(C) ADJUSTEI NET INCOM	
THRU PRIVATE EQUITY PARTNERSHIPS	AND LIMITE)		9	,190.		9,190	•	9,19	90.
TOTAL TO FORM 990-P	F, PART I, I	LINE 11		9	,190.		9,190	- -	9,19	90.

FORM 990-PF	LEGAL	FEES	ST	CATEMENT 4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
GENERAL LEGAL COUNSEL AND CONTRACT REVIEW	11,375.	0.	0.	11,375.
TO FM 990-PF, PG 1, LN 16A	11,375.	0.	0.	11,375.
FORM 990-PF	ACCOUNTI	NG FEES		ATEMENT 5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
AUDIT AND TAX PREPARATION	32,751.	0.	0.	31,551.
TO FORM 990-PF, PG 1, LN 16B	32,751.	0.	0.	31,551.
FORM 990-PF (OTHER PROFES	SIONAL FEES		PATEMENT 6
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
DESCRIPTION	EXPENSES	NET INVEST-	ADJUSTED NET INCOME 537. 0. 70,651.	CHARITABLE PURPOSES

FORM 990-PF	TAX	ES	S7	PATEMENT 7
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
FOREIGN TAXES WITHHELD FEDERAL EXCISE TAX OTHER TAXES	483. 0. 373.	0.	483. 0. 0.	35,000. 0.
TO FORM 990-PF, PG 1, LN 18	856.	483.	483.	35,000.
FORM 990-PF	OTHER E	XPENSES	SI	PATEMENT 8
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
INSURANCE OFFICE FURNISHING AND EQUIPMENT OFFICE EXPENSES FILING FEES MEMBERSHIP DUES BANK FEES OTHER INVESTMENT EXPENSES - THRU SCHEDULE K-1'S TO FORM 990-PF, PG 1, LN 23	6,606. 10,409. 46,889. 775. 58. 885. 37,359.	340. 1,026. 0. 0. 29. 37,359.	0. 340. 1,026. 0. 29. 37,359.	6,688. 10,069. 44,685. 775. 58. 856. 0.
FORM 990-PF OTHER DECREASI	ES IN NET AS	SETS OR FUND E	BALANCES ST	PATEMENT 9
DESCRIPTION				AMOUNT
PROVISION FOR DEFERRED FEDERA	AL EXCISE TA	X		14,000.
TOTAL TO FORM 990-PF, PART I	II, LINE 5			14,000

FORM 990-PF	CORPORATE STOCK		STATEMENT 10
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHMENT A		3,124,063.	3,124,063.
TOTAL TO FORM 990-PF, PART II, I	LINE 10B	3,124,063.	3,124,063.
FORM 990-PF (OTHER INVESTMENTS		STATEMENT 11
DESCRIPTION	VALUATION METHOD	BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHMENT A - MUTUAL FUNDS SEE ATTACHMENT A - EXCHANGE TRAI	FMV DED FMV	8,375,874.	8,375,874.
FUNDS		4,802,722.	4,802,722.
SEE ATTACHMENT A - HEDGE FUNDS A PRIVATE EQUITY	AND FMV	4,024,045.	4,024,045.
TOTAL TO FORM 990-PF, PART II, I	LINE 13	17,202,641.	17,202,641.
FORM 990-PF	OTHER ASSETS		STATEMENT 12
DESCRIPTION	BEGINNING OF YR BOOK VALUE	END OF YEAR BOOK VALUE	FAIR MARKET VALUE
ACCRUED INVESTMENT INCOME	22,351.	23,815.	23,815.
TO FORM 990-PF, PART II, LINE 15	22,351.	23,815.	23,815.
FORM 990-PF (OTHER LIABILITIES		STATEMENT 13
DESCRIPTION		BOY AMOUNT	EOY AMOUNT
DEFERRED RENT DEFERRED FEDERAL EXCISE TAX FEDERAL EXCISE TAX PAYABLE		48,651. 55,300. 11,845.	46,707. 69,300. 0.
TOTAL TO FORM 990-PF, PART II, I	LINE 22	115,796.	116,007.

FORM 990-PF

PART XV - LINE 1A LIST OF FOUNDATION MANAGERS STATEMENT 14

NAME OF MANAGER

LAWRENCE H. LINDEN DANA WECHSLER LINDEN

Form **8868**

(Rev. January 2017)

Department of the Treasury Internal Revenue Service

Application for Automatic Extension of Time To File an Exempt Organization Return

File a separate application for each return.

▶ Information about Form 8868 and its instructions is at www.irs.gov/form8868 .

OMB No. 1545-1709

Electronic filing (e-file). You can electronically file Form 8868 to request a 6-month automatic extension of time to file any of the forms listed below with the exception of Form 8870, Information Return for Transfers Associated With Certain Personal Benefit Contracts, for which an extension request must be sent to the IRS in paper format (see instructions). For more details on the electronic filing of this form, visit www.irs.gov/efile, click on Charities & Non-Profits, and click on e-file for Charities and Non-Profits.

Automatic 6-Month Extension of Time. Only submit original (no copies needed).

All corporations required to file an income tax return other than Form 990-T (including 1120-C filers), partnerships, REMICs, and trusts must use Form 7004 to request an extension of time to file income tax returns.

				Enter file	er's identifying nu	ımber	
Гуре с	Name of exempt organization or other filer, see instru	ictions.		Employer	ridentification nun	nber (EIN) or	
orint					12 25400	63	
ile by th	e e				13-37480 curity number (SS		
due date iling you		Author Street and room or suite no. If a P.O. box, see instructions. Linden Trust 56 West 56th Street, no. 1100 City, town or post office, state, and ZIP code. For a foreign address, see instructions. New York, NY 10019−3879 The code for the return that this application is for (file a separate application for each return) Return Application Code Is For Form 990-EZ O1 Form 990-T (corporation) O2 Form 1041-A Individual) O3 Form 4720 (other than individual) O4 Form 5227 Sec. 401(a) or 408(a) trust) O5 Form 6069 Form 8870 KAREN SIMONSON So are in the care of ► 156 West 56th Street, No. 1100 − N END. ► 212 991−3730 Fax No. ► 646 225 Initiation does not have an office or place of business in the United States, check this box in a Group Return, enter the organization's four digit Group Exemption Number (GEN) If it is for part of the group, check this box ► and attach a list with the names and Est an automatic 6-month extension of time until NOVEMBER 15, 2017 organization named above. The extension is for the organization's return for: calendar year 2016 or tax year beginning , and ending					
eturn. Se nstructio	ee						
	NEW YORK, NY 10019-3879						
		e a separa				0 4	
Applic	ation	Return	Application			Return	
s For		Code	Is For			Code	
orm 9	90 or Form 990-EZ	01	Form 990-T (corporation)			07	
orm 9	90-BL	02	Form 1041-A			08	
orm 4	720 (individual)	03	Form 4720 (other than individual)			09	
orm 9	90-PF	04	Form 5227			10	
orm 9	90-T (sec. 401(a) or 408(a) trust)	05	Form 6069			11	
orm 9	90-T (trust other than above)	06	Form 8870			12	
Tele	books are in the care of \blacktriangleright 156 WEST 56TH Sephone No. \blacktriangleright 212 991 -3730		Fax No. ▶ 646 225-71	16		<u>-3879</u> - □	
						check this	
oox >		7	<u></u>				
	request an automatic 6-month extension of time until				npt organization re		
	· —		· '				
	•	•					
)	X calendar year 2016 or						
	tax year beginning	, an	d ending				
2 1	f the tax year entered in line 1 is for less than 12 months, c	heck reas	on: Initial return F	inal retur	n		
	Change in accounting period						
3a l	this application is for Forms 990-BL, 990-PF, 990-T, 4720,	, or 6069,	enter the tentative tax, less any				
<u>r</u>	nonrefundable credits. See instructions.			3a	\$ 2	6,655.	
b l	f this application is for Forms 990-PF, 990-T, 4720, or 6069	, enter an	y refundable credits and				
9	estimated tax payments made. Include any prior year overp	oayment a	llowed as a credit.	3b	\$ 2	6,655.	
c E	3alance due. Subtract line 3b from line 3a. Include your pa	ayment wit	h this form, if required,				
k	by using EFTPS (Electronic Federal Tax Payment System).	See instru	ctions.	3с	\$	0.	
Cautio	n: If you are going to make an electronic funds withdrawal	(direct de	bit) with this Form 8868, see Form 8	453-FO ar	nd Form 8879-FO	for payment	

LHA For Privacy Act and Paperwork Reduction Act Notice, see instructions.

Form **8868** (Rev. 1-2017)

instructions.

			End o	of Year	
				F	air Market
Description	Attachment		Book Value		Value
Investments - corporate stock					
Common Stock (Account HA CORE US)	Attachment A, Page 04 of 11	\$	1,036,773	\$	1,036,773
Common Stock (Account MID CAP GR)	Attachment A, Page 08 of 11	•	948,238	•	948,238
Common Stock (Account DSM: LCG)	Attachment A, Page 10 of 11		1,139,052		1,139,052
Total Corporate Stock (Form 990-PF, Page 2, Part II, Li	ine 10b)		3,124,063		3,124,063
Investments - other (Mutual Funds)					
Mutual Funds (Account LTC/00757)	Attachment A, Page 01 of 11		2,711,162		2,711,162
Mutual Funds (Account LTC/00757)	Attachment A, Page 01 of 11		4,166,610		4,166,610
Mutual Funds (Account LTC/00757)	Attachment A, Page 02 of 11		1,498,102		1,498,102
Total Mutual Funds (Form 990-PF, Page 2, Part II, Line	2 13)		8,375,874		8,375,874
Investments - other (Exchange Traded Funds)					
Exchange Traded Funds (Account LTC/00757)	Attachment A, Page 02 of 11		3,822,586		3,822,586
Exchange Traded Funds (Account EQ AND FI)	Attachment A, Page 11 of 11		980,136		980,136
Total Exchange Traded Funds (Form 990-PF, Page 2, P	-		4,802,722		4,802,722
Investments - other (Hedge Funds and Private Equity)					
Dynamic Equity Managers: Portfolio 2 [Series]			1,014,572		1,014,572
Dynamic Equity Managers: Portfolio 4 [Series]			1,065,511		1,065,511
Hedge Funds Managers (Diversified) plc			951,302		951,302
Global Natural Resources III			1,157		1,157
Private Equity Partners 2002 Offshore, LP			119,611		119,611
GS Mezzanine Partners 2006 Offshore, LP			36,178		36,178
Edgewater Growth Capital Partners II, LP			472,423		472,423
Edgewater Growth Capital Partners, LP			169,936		169,936
MissionPoint Capital Partners Fund I, LP and Affiliated Enti	ities		166,485		166,485
Global Distressed Opportunities Unit Trust			26,870		26,870
Total Hedge Funds and Private Equity (Form 990-PF, F	Page 2, Part II, Line 13)		4,024,045		4,024,045
Total Investments		<u>\$</u>	20,326,704	\$	20,326,704

FIXED INCOME

						Unrealized /		
	Quantity /		Market Value /		Adjusted Cost /	Economic	Yield to Maturity	Estimate
	Current Face	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	in Percentage	Annual Income
INVESTMENT GRADE FIXED INCOME								
GS CORE FIXED INCOME FUND								
GS CORE FIXED INCOME FUND INSTITUTIONAL SHARES	113,188.329	10.4100	1,178,290.50	10.5680	1,196,177.20	(17,886.70)		33,164.18
						927,836.50		
GS SHORT DURATION INCOME FUND								
GS SHORT DURATION INCOME INSTITUTIONAL MUTUAL	154,057.460	9.9500	1,532,871.73	10.0578	1,549,477.17	(16,605.44)		25,573.54
FUND						32,871.73		
TOTAL INVESTMENT GRADE FIXED INCOME			2,711,162.23		2,745,654.37	(34,492.14)		58,737.72
OTHER FIXED INCOME								
GS HIGH YIELD FLOATING RATE FUND								
GS HIGH YIELD FLOATING RATE FUND INSTITUTIONAL	326,838.589	9.7400	3,183,407.86	9.9016	3,236,237.63	(52,829.77)		120,930.28
SHARES						233,407.85		
GS HIGH YIELD FUND								
GS HIGH YIELD FUND INSTITUTIONAL SHARES	151,261.830	6.5000	983,201.89	7.1140	1,076,083.89	(92,881.99)		55,865.97
						1,530,304.44		
TOTAL OTHER FIXED INCOME			4,166,609.75		4,312,321.52	(145,711.76)		176,796.25

PUBLIC EQUITY								
			Market Value /			Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
US EQUITY								
S&P 500 INDEX FUND (SPDR)								
SPDR S&P 500 ETF TRUST (SPY)	17,101.00	223.5300	3,822,586.53	110.7090	1,893,234.68	1,929,351.85	2.0306	77,622.19
			22,726.03					
						Unrealized /		
			Market Value /			Economic	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
NON-US EQUITY								
GS INTERNATIONAL EQUITY INSIGHTS FUND								
GS INTERNATIONAL EQUITY INSIGHTS FUND I (GCIIX)	97,866.928	10.6600	1,043,261.45	9.1377	894,277.92	148,983.53	3.2176	33,568.36
						393,261.45		
GS EMERGING MARKETS EQUITY INSIGHTS FUND								
GS EMERGING MARKETS EQUITY INSIGHTS FUND I (GERIX)	55,945.991	8.1300	454,840.91	8.5210	476,714.03	(21,873.12)	1.5006	6,825.41
						38,977.56		
TOTAL NON-US EQUITY			1,498,102.36		1,370,991.95	127,110.41	2.6963	40,393.77

WELLS FARGO & CO (NEW) CMN (WFC)

PUBLIC EQUITY								
	Quantity	Market Price	Market Value / Accrued Income	Unit Cost	Adjusted Cost / Original Cost	Unrealized Gain (Loss)	Yield to Maturity / Current Yield	Estimated Annual Income
IS EQUITY	-				-			
IARRIS ASSOCIATES: DYNAMIC EQUITY								
			Market Value /		0.10.1	Unrealized	Dividend	Estimated
ALPHABET INC. CMN CLASS C (GOOG)	Quantity 80.00	Market Price 771.8200	Accrued Income 61,745.60	710.3715	Cost Basis 56,829.72	Gain (Loss) 4,915.88	Yield	Annual Income
AMERICAN INTL GROUP, INC. CMN (AIG)	875.00	65.3100	57,146.25	36.7137	32,124.49	25,021.76	1.9599	1,120.00
BAXTER INTERNATIONAL INC. CMN (BAX)	1,110.00	44.3400	49.217.40	39.9994	44.399.28	4.818.12	1.1728	577.20
DANTEN INTERINATIONAL INC GIVIN (DAN)	1,110.00	44.3400	130.00	33.3334	44,333.20	4,010.12	1.1720	377.20
BLACKROCK, INC. CMN (BLK)	120.00	380.5400	45,664.80	267.5551	32,106.61	13,558.19	2.4071	1,099.20
CARMAX, INC. CMN (KMX)	795.00	64.3900	51,190.05	48.0312	38,184.83	13,005.22		
CATERPILLAR INC (DELAWARE) CMN (CAT)	510.00	92.7400	47,297.40	82.7971	42,226.52	5,070.88	3.3211	1,570.80
CBRE GROUP INC CMN (CBG)	1,125.00	31.4900	35,426.25	27.7919	31,265.84	4,160.41		
CDW CORP CMN (CDW)	800.00	52.0900	41,672.00	44.8901	35,912.07	5,759.93	1.2286	512.00
CHARTER COMMUNICATIONS, INC. CMN (CHTR)	200.00	287.9200	57,584.00	213.5788	42,715.75	14,868.25		
CITIGROUP INC. CMN (C)	875.00	59.4300	52,001.25	46.7330	40,891.38	11,109.87		
COMMSCOPE HLDG CO INC CMN (COMM)	1,150.00	37.2000	42,780.00	30.8389	35,464.71	7,315.29		
CUMMINS INC COMMON STOCK (CMI)	330.00	136.6700	45,101.10	110.7093	36,534.08	8,567.02	2.9999	1,353.00
GENERAL MOTORS COMPANY CMN (GM)	1,865.00	34.8400	64,976.60	30.7648	57,376.26	7,600.34	4.3628	2,834.80
HCA HOLDINGS, INC. CMN (HCA)	680.00	74.0200	50,333.60	70.2777	47,788.83	2,544.77		
JPMORGAN CHASE & CO CMN (JPM)	695.00	86.2900	59,971.55	37.8481	26,304.40	33,667.15	2.2251	1,334.40
QUINTILES IMS HOLDINGS INC. CMN (Q)	675.00	76.0500	51,333.75	66.7221	45,037.44	6,296.31		
TIFFANY & CO CMN (TIF)	675.00	77.4300	52,265.25	68.5804	46,291.80	5,973.45	2.3247	1,215.00
			303.75					
TRIBUNE MEDIA CO - A CMN CLASS A (TRCO)	1,400.00	34.9800	48,972.00	52.2402	73,136.28	(24,164.28)	2.8588	1,400.00

55.1100

73,020.75

33.1261

43,892.06

1,325.00

2,014.00

2.7581

29,128.69

PUBLIC EQUITY (Continued)								
			Market Value /			Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
US EQUITY								
HARRIS ASSOCIATES: DYNAMIC EQUITY								
AON PLC CMN (AON)	440.00	111 5300	49 073 20	81 0496	35 661 81	13 411 39		

TOTAL HARRIS ASSOCIATES: DYNAMIC EQUITY

1,036,772.80

PUBLIC EQUITY								
	9 11		Market Value /		Adjusted Cost /	Unrealized	Yield to Maturity /	Estimated
US EQUITY	Quantity	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	Current Yield	Annual Income
GSAM: MID CAP GROWTH								
ADVANCE AUTO PARTS, INC. CMN (AAP)	98.00	169.1200	16,573.76	155.5238	15,241.33	1,332.43	0.1419	23.52
AFFILIATED MANAGERS GROUP INC CMN (AMG)	121.00	145.3000	5.88 17,581.30	144.6871	17,507.14	74.16		
AGILENT TECHNOLOGIES, INC. CMN (A)	317.00	45.5600	14,442.52 41.84	34.1857	10,836.87	3,605.65	1.1589	167.38
AMPHENOL CORP CL-A (NEW) CMN CLASS A (APH)	449.00	67.2000	30,172.80 71.84	29.7148	13,341.93	16,830.87	0.9524	287.36
ASHLAND GLOBAL HOLDINGS INC CMN (ASH)	149.00	109.2900	16,284.21	119.3411	17,781.83	(1,497.62)		
AVERY DENNISON CORPORATION CMN (AVY)	165.00	70.2200	11,586.30	75.9576	12,533.01	(946.71)	2.3355	270.60
BARD C R INC N J CMN (BCR)	74.00	224.6600	16,624.84	207.2949	15,339.82	1,285.02	0.4629	76.96
BLACK KNIGHT FINANCIAL SERVICE CMN CLASS A (BKFS)	456.00	37.8000	17,236.80	32.2269	14,695.45	2,541.35		
BLUE BUFFALO PET PRODUCTS INC CMN (BUFF)	628.00	24.0400	15,097.12	21.9252	13,769.02	1,328.10		
BROWN FORMAN CORP CL B CMN CLASS B (BFB)	377.00	44.9200	16,934.84	48.1090	18,137.11	(1,202.27)	1.6251	275.21
			68.80					
CHIPOTLE MEXICAN GRILL, INC. CMN (CMG)	41.00	377.3200	15,470.12	431.5585	17,693.90	(2,223.78)		
CONCHO RESOURCES INC. CMN (CXO)	66.00	132.6000	8,751.60	100.8518	6,656.22	2,095.38		
DRIL-QUIP, INC. CMN (DRQ)	70.00	60.0500	4,203.50	111.9929	7,839.50	(3,636.00)		
EAGLE BANCORP, INC. CMN (EGBN)	235.00	60.9500	14,323.25	41.7493	9,811.09	4,512.16		
EDWARDS LIFESCIENCES CORP CMN (EW)	200.00	93.7000	18,740.00	109.7794	21,955.88	(3,215.88)		
ELECTRONIC ARTS CMN (EA)	226.00	78.7600	17,799.76	68.3897	15,456.08	2,343.68		
EXELIXIS, INC. CMN (EXEL)	163.00	14.9100	2,430.33	12.2299	1,993.47	436.86		

PUBLIC EQUITY (Continued)

			Market Value /			Unrealized	Dividend	Estimated
S EQUITY	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
SAM: MID CAP GROWTH								
EXPEDIA, INC. CMN (EXPE)	119.00	113.2800	13,480.32	127.5635	15,180.06	(1,699.74)		
FIDELITY NATL INFO SVCS INC CMN (FIS)	199.00	75.6400	15,460.32	67.2813	13,388.97	1,663.39	1.3749	206.96
FIRST REPUBLIC BANK CMN SERIES (FRC)	221.00	92.1400	20,362.94	54.0482	11,944.66	8,418.28	0.6946	141.44
FISERV INC CMN (FISV)	72.00	106.2800	7,652.16	104.9444	7,556.00	96.16	0.0040	171.77
FIVE BELOW INC CMN (FIVE)	193.00	39.9600	7,712.28	40.7994	7,874.29	(162.01)		
FLEETCOR TECHNOLOGIES, INC. CMN (FLT)	109.00	141.5200	15,425.68	108.2686	11,801.28	3,624.40		
FORTIVE CORPORATION CMN (FTV)	273.00	53.6300	14,640.99	49.9468	13,635.49	1,005.50	0.5221	76.44
FORTUNE BRANDS HOME & SECURITY CMN (FBHS)	229.00	53.4600	12,242.34	45.7879	10,485.44	1,756.90	1.3468	164.88
GARTNER, INC. CMN (IT)	47.00	101.0700	4,750.29	104.2002	4,897.41	(147.12)	1.0400	104.00
GLOBAL PMTS INC CMN (GPN)	157.00	69.4100	10,897.37	57.9559	9,099.08	1,798.29	0.0576	6.28
HUBBELL INCORPORATED CMN (HUBB)	81.00	116.7000	9,452.70	100.3121	8,125.28	1,327.42	2.3993	226.80
IDEX CORPORATION COMMON STOCK (IEX)	79.00	90.0600	7,114.74	95.3546	7,533.01	(418.27)	1.5101	107.44
ILLUMINA, INC. CMN (ILMN)	37.00	128.0400	4,737.48	135.2419	5,003.95	(266.47)	1.0101	107.11
INCYTE CORPORATION CMN (INCY)	96.00	100.2700	9,625.92	94.7114	9,092.29	533.63		
INTERCONTINENTAL EXCHANGE INC CMN (ICE)	380.00	56.4200	21,439.60	38.8055	14,746.08	6,693.52		
INTUIT INC CMN (INTU)	204.00	114.6100	23,380.44	92.1519	18,798.98	4,581.46	1.1866	277.44
JOHN BEAN TECHNOLOGIES CORPORA CMN (JBT)	60.00	85.9500	5,157.00	81.0582	4,863.49	293.51	0.4654	24.00
KATE SPADE & COMPANY CMN (KATE)	327.00	18.6700	6,105.09	22.3822	7,318.99	(1,213.90)		
L-3 COMMUNICATIONS HLDGS INC CMN (LLL_170103)	47.00	152.1100	7.149.17	158.4683	7,448.01	(298.84)	1.8408	131.60
LEVEL 3 COMMUNICATIONS INC CMN (LVLT)	232.00	56.3600	13,075.52	37.5602	8,713.96	4,361.56		
MATCH GROUP, INC. CMN (MTCH)	174.00	17.1000	2,975.40	14.3854	2,503.06	472.34		
METTLER-TOLEDO INTL CMN (MTD)	52.00	418.5600	21,765.12	284.6487	14,801.73	6,963.39		
MIDDLEBY CORP CMN (MIDD)	196.00	128.8100	25,246.76	104.6107	20,503.70	4,743.06		
MOLSON COORS BREWING CO CMN CLASS B (TAP)	116.00	97.3100	11,287.96	104.0761	12,072.83	(784.87)	1.6853	190.24
MONSTER BEVERAGE CORPORATION CMN (MNST)	264.00	44.3400	11,705.76	46.1648	12,187.51	(481.75)		
NEVRO CMN (NVRO)	71.00	72.6600	5,158.86	97.5137	6,923.47	(1,764.61)		
NEWELL BRANDS INC CMN (NWL)	392.00	44.6500	17,502.80	47.3725	18,570.01	(1,067.21)	1.7021	297.92
NORTHERN TRUST CORP CMN (NTRS)	227.00	89.0500	20,214.35	84.6312	19,211.28	1,003.07	1.7069	345.04
			45.22		-,	,		
O'REILLY AUTOMOTIVE INC CMN (ORLY)	29.00	278.4100	8,073.89	258.5876	7,499.04	574.85		

PUBLIC EQUITY (Continued)

			Market Value /			Unrealized	Dividend	Estimate
IC FOURTY	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
JS EQUITY GSAM: MID CAP GROWTH								
PANERA BREAD COMPANY CL-A CMN CLASS A (PNRA)	126.00	205.0900	25,841.34	168.2076	21,194.16	4,647.18		
			· · · · · · · · · · · · · · · · · · ·		·	· · · · · · · · · · · · · · · · · · ·	0.1000	0.25
PVH CORP CMN (PVH) QORVO INC CMN (QRVO)	55.00 161.00	90.2400 52.7300	4,963.20 8,489.53	92.2226 52.5211	5,072.24 8,455.89	(109.04)	0.1662	8.25
RED HAT, INC. CMN (RHT)	158.00	69.7000	11.012.60	74.3199				
			,		11,742.55	(729.95)	0.7047	201.00
ROPER TECHNOLOGIES INC CMN (ROP)	144.00	183.0800	26,363.52	177.9965	25,631.50	732.02	0.7647	201.60
ROSS STORES,INC CMN (ROST)	317.00	65.6000	20,795.20	57.2347	18,143.39	2,651.81	0.8232	171.18
RPM INTERNATIONAL INC CMN (RPM)	353.00	53.8300	19,001.99	45.3704	16,015.76	2,986.23	2.2292	423.60
SBA COMMUNICATIONS CORP CMN (SBAC)	124.00	103.2600	12,804.24	65.5789	8,131.79	4,672.45		
SCRIPPS NETWORKS INTERACTIVE, CMN CLASS A (SNI)	142.00	71.3700	10,134.54	71.5251	10,156.56	(22.02)	1.4011	142.00
SERVICENOW INC CMN (NOW)	109.00	74.3400	8,103.06	58.9052	6,420.67	1,682.39		
SHERWIN-WILLIAMS CO CMN (SHW)	19.00	268.7400	5,106.06	281.9221	5,356.52	(250.46)	1.2503	63.84
SPLUNK INC CMN (SPLK)	120.00	51.1500	6,138.00	61.5507	7,386.08	(1,248.08)		
TOTAL SYS SVC INC. CMN (TSS)	208.00	49.0300	10,198.24	49.4695	10,289.66	(91.42)	0.8158	83.20
			20.80					
TREEHOUSE FOODS, INC. CMN (THS)	137.00	72.1900	9,890.03	79.8558	10,940.25	(1,050.22)		
ULTA SALON COSMETICS & FRAGRAN CMN (ULTA)	94.00	254.9400	23,964.36	97.3980	9,155.41	14,808.95		
UNDER ARMOUR, INC. CMN CLASS C (UA)	229.00	25.1700	5,763.93	26.5722	6,085.03	(321.10)		
VALVOLINE INC. CMN (VVV)	148.00	21.5000	3,182.00	23.5697	3,488.32	(306.32)	0.9116	29.01
VCA INC. CMN (WOOF)	107.00	68.6500	7,345.55	70.1340	7,504.34	(158.79)		
VERTEX PHARMACEUTICALS INC CMN (VRTX)	56.00	73.6700	4,125.52	116.8536	6,543.80	(2,418.28)		
WHOLE FOODS MARKET INC CMN (WFM)	325.00	30.7600	9,997.00	38.7596	12,596.87	(2,599.87)	1.8205	182.00
XYLEM INC. CMN (XYL)	488.00	49.5200	24,165.76	38.9156	18,990.81	5,174.95	1.2512	302.36
ZOETIS INC. CMN CLASS A (ZTS)	378.00	53.5300	20,234.34	42.4363	16,040.94	4,193.40	0.7846	158.76
EQUINIX, INC. REIT (EQIX)	64.00	357.4100	22,874.24	202.8309	12,981.18	9,893.06	1.9585	448.00
LAZARD LTD CMN CLASS A (LAZ)	258.00	41.0900	10,601.22	37.9057	9,779.67	821.55	3.6992	392.16
ALKERMES PLC CMN (ALKS)	183.00	55.5800	10,171.14	54.9972	10,064.49	106.65		

	Market Value /					Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
US EQUITY								
GSAM: MID CAP GROWTH								
MOBILEYE N V CMN (MBLY)	124.00	38.1200	4,726.88	39.4780	4,895.27	(168.39)		
SENSATA TECHNOLOGIES HLDG N .V CMN (ST)	375.00	38.9500	14,606.25	39.6364	14,863.66	(257.41)		
TOTAL GSAM: MID CAP GROWTH			948,238.08					

PUBLIC EQUITY								
			Market Value /		Adjusted Cost /	Unrealized	Yield to Maturity /	Estimated
HC FOURTY	Quantity	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	Current Yield	Annual Income
US EQUITY DSM: LARGE CAP GROWTH								
DSIVI. LANGE CAP GNOW I H								
A DODE OVOTEMO INIO OMMI / A DDE)	F10.00	100.0500	F0 F04 F0	04 0070	44 700 00	10.707.54		
ADOBE SYSTEMS INC CMN (ADBE)	510.00	102.9500	52,504.50	81.8372	41,736.96	10,767.54		
AFFILIATED MANAGERS GROUP INC CMN (AMG)	227.00	145.3000	32,983.10	197.2019	44,764.82	(11,781.72)		
ALEXION PHARMACEUTICALS INC CMN (ALXN)	254.00	122.3500	31,076.90	144.3949	36,676.31	(5,599.41)		
ALPHABET INC. CMN CLASS A (GOOGL)	68.00	792.4500	53,886.60	393.0674	26,728.58	27,158.02		
CELGENE CORPORATION CMN (CELG)	397.00	115.7500	45,952.75	35.1321	13,947.43	32,005.32		
CHARLES SCHWAB CORPORATION CMN (SCHW)	1,205.00	39.4700	47,561.35	30.7366	37,037.56	10,523.79	0.7094	337.40
DOLLAR GENERAL CORPORATION CMN (DG)	483.00	74.0700	35,775.81	76.1999	36,804.56	(1,028.75)	1.3501	483.00
			120.75					
DOLLAR TREE INC. CMN (DLTR)	315.00	77.1800	24,311.70	91.4396	28,803.48	(4,491.78)		
ELECTRONIC ARTS CMN (EA)	503.00	78.7600	39,616.28	77.8852	39,176.28	440.00		
FACEBOOK, INC. CMN CLASS A (FB)	509.00	115.0500	58,560.45	84.2438	42,880.09	15,680.36		-
FLEETCOR TECHNOLOGIES, INC. CMN (FLT)	182.00	141.5200	25,756.64	153.5712	27,949.96	(2,193.32)		
INTUITIVE SURGICAL, INC. CMN (ISRG)	39.00	634.1700	24,732.63	475.5979	18,548.32	6,184.31		
INVESCO LTD. CMN (IVZ)	481.00	30.3400	14,593.54	37.5016	18,038.25	(3,444.71)	3.6915	538.72
MONSTER BEVERAGE CORPORATION CMN (MNST)	1,146.00	44.3400	50,813.64	39.1779	44,897.92	5,915.72		·
NEWELL BRANDS INC CMN (NWL)	796.00	44.6500	35,541.40	46.4246	36,954.01	(1,412.61)	1.7021	604.96
PRICELINE GROUP INC/THE CMN (PCLN)	39.00	1,466.0600	57,176.34	1,173.7290	45,775.43	11,400.91		
REGENERON PHARMACEUTICAL INC CMN (REGN)	89.00	367.0900	32,671.01	352.6008	31,381.47	1,289.54		
SHIRE LIMITED SPONSORED ADR CMN (SHPG)	315.00	170.3800	53,669.70	225.8299	71,136.41	(17,466.71)	0.4717	253.17
SIRIUS XM HOLDINGS INC CMN (SIRI)	7,657.00	4.4500	34,073.65	4.1060	31,439.53	2,634.12		

PUBLIC EQUITY (Continued)

			Market Value /			Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
JS EQUITY								
DSM: LARGE CAP GROWTH								
STARBUCKS CORP. CMN (SBUX)	823.00	55.5200	45,692.96	50.3675	41,452.48	4,240.48	1.8012	823.00
TENCENT HOLDINGS LIMITED UNSPONSORED ADR CMN ADD	2,185.00	24.4680	53,462.58	8.3401	18,223.20	35,239.38	0.2175	116.28
ADR REL 19358779 (TCEHY)								
VISA INC. CMN CLASS A (V)	746.00	78.0200	58,202.92	47.6791	35,568.63	22,634.29	0.8459	492.36
ZOETIS INC. CMN CLASS A (ZTS)	1,191.00	53.5300	63,754.23	45.1958	53,828.20	9,926.03	0.7846	500.22
ALIBABA GROUP HOLDING LIMITED SPONSORED ADR CMN	592.00	87.8100	51,983.52	87.2986	51,680.80	302.72		
(BABA)								
ALLERGAN PLC CMN (AGN)	184.00	210.0100	38,641.84	281.1806	51,737.23	(13,095.39)	1.3333	515.20
NXP SEMICONDUCTORS N.V. CMN (NXPI)	288.00	98.0100	28,226.88	78.5625	22,626.00	5,600.88		
ROYAL CARIBBEAN CRUISES LTD ISIN: LR0008862868 (RCL)	583.00	82.0400	47,829.32	77.2044	45,010.15	2,819.17	2.3403	1,119.36
			279.84					
TOTAL DOMALLADOR CAD CDOM/TH								

TOTAL DSM: LARGE CAP GROWTH

1,139,052.24

PUBLIC EQUITY

	Market Value /					Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
NON-US EQUITY								
MSCI EAFE HEDGED EQUITY INDEX FUND (DB X-TRACKERS)								
DEUTSCHE X-TRACKERS MSCI EAFE EQUITY ETF (DBEF)	34,930.00	28.0600	980,135.80	30.4050	1,062,046.65	(81,910.85)	2.5546	25,038.87